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Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).
Subject Code : |IIl|A |& B

Subject Name :

® Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one of these
alternatives is ‘CORRECT” answer. The candidate has to write the Correct
Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No. in the Answer
Script.

Example — If alternative A of 1 is correct, then write :
1. — A

® There is no negative marking for wrong answer.
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Paper Code : VII - A

Full Marks : 20 Time : Thirty Minutes

Choose the correct answer.

Each question carries 1 mark.

1. The word ‘Psychology’ comes from —
(A) Greek
(B) Latin
(C) Arabic
(D) German

2. ‘Psychology is the science of the Psyche or Soul’, said by —
(A) Atristotle
(B) Socrates
(C) Plato
(D) Watson

3. The word ‘Gestalt” means —
(A) Part of
(B) Whole
(C) Some
(D) None of the above

4. Which is not a part of Memory —
(A) Learning
(B) Retention
(C) Recall

(D) Forgetting

5. Thorndike’s theory of learning is called —
(A) Trial and Error method
(B) Learing by Insight
(C) Conditioned response theory of learning
(D) None of the above
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10.

I1.

. The proofs of the existence of the Unconscious is —

(A) To have a dream
(B) Forgetting

(C) Attention

(D) Fear

. The one of the causes of illusion is —

(A) Attention
(B) Dream

(C) Recognition
(D) Fear

. Introspection Method is —

(A) Objective
(B) Subjective
(C) Cognitive
(D) None of the above

. The word ‘Gestalt’ is a —

(A) Latin word
(B) French word
(C) German word
(D) Greek word

[.Q means —

(A) Intelligence Quotient
(B) Intelligent Question
(C) Intelligence Quarterly

(D) Intelligence Quality

The example of a Primary Group is —
(A) A political Party

(B) A Family

(C) A Trade Union

(D) None of the above

(4)
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12.

13.

14.

15.

16.

17.

The basis of a Community is —
(A) Political Awareness

(B) Political Power

(C) A Locality

(D) None of the above

Example of a cultural association is —
(A) A Temple

(B) A Family

(C) A Political Party

(D) None of the above

The example of a Permanent Association is —
(A) Family

(B) A Church

(C) State

(D) None of the above

Social Philosophy is —
(A) Subjective

(B) Positive

(C) Normative

(D) None of the above

Sarvodaya is propounded by —
(A) Vinoba Bhave

(B) Gandhiji

(C) Rabindranath Tagore

(D) None of the above

The word ‘Democracy’ comes from the Greek word —

(A) Democracia
(B) Democratia
(C) Demos
(D) Demes

(35)
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18. A welfare state performs —
(A) Only welfare functions
(B) Only protective functions
(C) Both welfare and protective function
(D) None of the above

19. Each of the following is part of the process of sensation except —
(A) Receiving messages
(B) Translating message
(C) Transmitting messages
(D) Interpreting messages

20. Pavlov observed his research dog salivating at the sight of —
(A) Food
(B) Food dish
(C) Attendant
(D) Saliva
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Group -A
(Psychology)
Section - I
Answer any two of the following : 15%2=30

1. What is Introspection? What are its disadvantages? How can they be overcome?

5+5+5=15

2. What is meant by the unconscious state of mind? What are the grounds of your belief
in it? 5+10=15
3. What is forgetting? What are the causes of forgetting? 5+10=15

4. Distinguish between sensation and perception. Are pure sensations possible? 8+7=15

Section - II
5. Answer any two of the following : 5x2=10
(a) What are the conditions of memory? 5
(b) Distinguish between emotion and emotional mood. 5
(c) Write a short note on illusion. 5
(d) What do you mean by personality? 5
Group-B
(Socio Political Philosophy)
Section - I
Answer any two of the following : 15%2=30

6. What is meant by community? Explain the bases of community. Is monastery a
community? 2+10+3=15

7. Explain and examine idealism as a theory of the relation between individual and state.
15
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8. What do you mean by religious discrimination? State arguments for and against
religious discrimination. 5+10

9. What is Socialism? Distinguish between Utopian Socialism and Scientific Socialism.

5+10
Section - 11
10. Answer any two of the following : 5%2=10
(a) What is institution? State any two differences between Custom and Institution.
2+3=5
(b) Explain in brief the nature of Welfare State. 5
(c) Explain the concept of Sarvodaya according to M. K. Gandhi. 5

(d) What is the meaning of the term ‘secular’? In what sense India is a secular
country? 2+3=5
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